TOCHIGIYA GENERAL CATALOG 71

TL-254
DL-1 BEOY Y

—_
[V
33 Push On Latch
2
73
75
T s
A
jl_ ik
PRODUCT
BE Characteristic
7 BRZEUEBEO Yy | SEBEAERY AT CEErER 2 E8E, BIEAXEE Press a door to get a sealed lock. A simple installation to reduce
| 3 X, EREFERALCEEEREIEhUTHA. BELY—ILTHDE operation time. No change for the seal performance even using it a
é g) A&y R TYR long time. Secure seal shut out oil.
ff; % TS Application
7 . = s iy o — Control boards / Distribution boards / Distribution panels /
e R o) R HAlES - T O EIEOR Measuring instruments / Various types of doors
F0 WEpHER  Parts List
J % £BZE No. £R5h4 Part Name & Material 4132 Finish #% Quantity
7o 1 |AE—7E>7) Holder Assembly PA 2  Black 1
3 % 2 HAK  Guide SPCC 3{fiOX—k Trivalent Chromate Treatment 1
F 8 3 TL—L7t>71) Frame Assembly PA 2 Black 1
4 %£8 Metal Plate SPCC 3 fli/O0X—bk  Trivalent Chromate Treatment 1
5 L (A) Screw (A) S Ni 2
6 7l (B) Screw(B) 3fliZOX—K Trivalent Chromate Treatment 2
73 Al (A) AYSMal M3x 10, fal (B) : A~/Mal (EE&—fhE!) M4 x 30
; :‘;g % Screw (A) : Round Countersunk Small Screw M3 x 10, Screw (B) : Pan Head Small Screw with Washer M4 x 30
| 7}
5 42 225 38
o L 15 20 _Qﬂ t2
p—— - ] =k ) S
PR TR ] lf T i
£ eﬁ%y ] ¥ g3 15 2 8| 9| & {or
m s ] J{/@
©® L aosgomE | | +fele R
‘ Position of the plate 1 Ji . J
S F “\ AR R B RIS/ N 25%145 3034
L g Door side panel Body side panel 4 2-M4
/ 4+ 8 R
1 i 5 OF= )y o 0w’
F > g__ g 2
a”g 205 e ¥ 2-¢4.5
P @/ _ & - £ R
2 ST “ Application Example
RIVE—=pE> LI
Holder Assembly .
TL—L7E>TY
BfTARR Flame Assembly Fﬁ
Holes for Installation BATRE cZ!N“ —~
B4 Holes for Installation o ADTOK
1D TOK!
Installation Example f HAEX—T
15 WWEEA!
\/> Just use a coin,
no need for a special key.\\
§
w
> - r=I
N=L
g E RERTY 21
O Z4#24E
W FEEBA!
n [ Just push the door in,
AR EE N no need to lock it.

{t#% Specification

Important Size Layout for Installation

ZEAC))

Model No.

TL-254

Net Weight (g)
7.7

FEmDZ

1-297

EX7V)ET Please contact us for custom-made.



